pa3mepsl Bana, Shaft Dimensions noalwmnHuk Bearings
Tunopasmep TTEPEn. JaOr.
IECRrame | A | AA| AB | Aac | aD| B | Ba|BB| c|lcalp |E [es|F |6 |ep [pa [EA |ts |FA |eB [6F | H | HA|HC|HD | kK| L | tc| st | a1 | a2 |DE O.D.E.
63 100 21 | 116 | 125 | 119 | 80 | 22 | 95 | 40 | 78 | 116 23 | 14| 4| 85 | 4 | 96 | 20 | 12| 3 | 72| 3 | 63| 8 |124] 182 216 [ 241 |, o [EM4|EM3 620127
71 112 30 | 132 | 141 | 127 | 90 | 38 |1135] 45 | 88 | 14j6]| 30 | 18| 5 | 11 | 5 |11j6] 23 | 14 | 4 | 85| 4 | 71| 12 | 139] 198 248 276 |~ " [DM5| EM4| 620327 | 620222
80 125| 35 | 149 | 159 | 136 | o | 40 [1255] 50 | 93 [19/6] 40 [ 28 6 | 155 | 6 | 146] 30 | 18 11 80| 13 | 157] 216 276 | 313 DM6 | DM4 | 6204-2Z | 6203-27
ggf 140| 38 | 164 | 179 | 155 [——— 42 12; 56 | 104 | 24j6 | 50 | 36 20 16i6| 40 | 28| 2 | 13| 2 90| 15 | 177 245 | 1© ggg g?g 2x M25x| DM8 | DM6 | 6205-2Z | 6204-2Z
8 7 15
100|160 49 | 188 | 199 | 165 173 | 63 | 118 | = 2216 6 | 19| 6 |100] 16 | 198] 265 376 | 431 6206-77 | 6205-2Z
T1oM | 190 | 48 | 220 | 222 | 184 | 140 | 20 [177 [ 70 [ 128 ] 256 | 80 | 40 24 2ai6] ° | 3¢ 20 112 18.5| 235 | 296 393 | 448 DM10| DM8 1=6207-27 | 6206-27
132S 1 o16| 51 | 248 | 270 | 212 55 |87 | g9 | 150 |38k6| 80 | 63 | 10| 33 28i6| 60 | 45 | B | 24| 7 [132| 20 | 274 344 "2 452 [ 519 ZX;VI gzx DM |om1d| 630822 | 6207-22
132M 178 225 8 ) 490 | 557 | 2 - -
160M 210 254 598 | 712
SM 1254 | 64 | 308 | 312 | 255 2101 65 202 108 | 174 |42k6 12| 37 42K6 12 | 37 | & |160| 22 | 317 415 e 6309-C3 |6209-2-C3
180M 241 294 15662782 15 DM16
279| 80 | 350 | 358 | 275 75 121 | 200 | 48k6 80| 14| 425 | 9 80 180| 28 | 360 455 6311-C3 |6211-2-C3
1801 279 702 | 820
iy = 332 110 48k6 | 110 14|43 9 e
Ml 318| 82 | 385 | 396 | 300 |22l 85 [—1 133 | 222 |55m6 ol w1 200| 30 |402| 500 o 6312-C3 |6212-2-C3
286 280 |55m6 100 55m6 100| 16 | 49 | 10 19| 817 | 935 2":\"550"
2255M | 356 | 80 | 436 105 | 391 | 149 225| 34 | 466 598 :
255 |60m6 847 | 995
476 | 373 | 311
312 |60m6 53 60m6 6314-C3
250SIM | 406 506 138 | 449 | 168 18 11 53 M20
349 274 |65m6 250 491 | 623 923 | 1071
100 140|125 11
368 350 |65m6 58 60me| 140 | 125 | 18 42 24
280SIM | 457 557 468 142 | 510 | 190
419 299 |75m6 20| 675 | 12 |65m6 58 280 578 1036|1188
600 748 6316-C3
406 376 |65m6 18| 58 | 11 |6ome 53 1126|1278, 1o
315S/M 120 | 628 497 152 | 558 s
457 325 |some| 170 |160[ 22| 71 | 14 |65me 58 52 | 613 | 812 1156|1308| 6319C3 | 6316-C3
508 216 315
75mé| 140 | 125| 20| 67.5 | 12 1432 M20 6316-C3 | 6314-C3
3158 182 | 630 | 698 | 545 | 630 | 162 | 830 — 475|664 | 860
o' 210|200( 28| 90 | 16 28 {1502 M24 NU-322-C3 6319-C3
560 458 |75me| 140 [125| 20| 67.5 | 12 [60ms| 140 | 125 | 18 | 53 | 11 1396 1561 M20 | 6316-C3 | 6314-C3
355MIL | 610 | 140 | 750 | 816 | 685 200 | 760 | 254 — 355| 50 | 7251040
630 388 |'%™ 210|200/ 28| 90 | 16 [som| 170 | 160 22 | 71 | 14 1466| 1661 M24 | M20 [NU-322-Cc3 6319-C3




